and ge Admission



Guru Nanak Dev University, Amritsar REGISTRATION FORM

RETURN FEE CHALLAN

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Bachelor of Business Administration, Semester-I

Challan Payment/Verification must be done on or before valid date of challan

Poturn Submission Result (Printed On: 16/09/2024 03:10 PM)

		Return Submission R	esult (Printed On: 16/05/2024 05:1	5 T 111)	
					udents: 1
Challan No. : 2060062 Date		No.: 2060062 Date: 10/05/2024 00.101 III		ount per Student	Total Amount
	S. No	Fee Type	1	400	400
	1	Registration Fee	1	300	300
	2	Enrollment Fee		350	0
	3	Special Migration Fee	0		0
	4	Verification Fee	0	1000	
	5	Eligibility Fee	0	250	0
	6	Eligibility Form Fee	0	200	0
	7	Re-Cheking Fee	0	300	0

	-			•	300	0
	7	Re-Cheking Fee		0		200
	8	Continuation Fee		0	400	0
	9	World University Fee		1	50	50
	10	Student Holiday Home Fee		1	100	100
•	11	Youth Welfare Fee		1	200	200
	12	University Sports & Development Fee		1	1300	1300
	13	College Development Fee		1	60	60
	14	NSS Fee		1	50	50
	15	Verfication Fee (Foreign Students)		0	3500	0
	16	Eligibility Fee (Foreign Students)		0	3000	0
	17	Late Fee		0	0	0
	18	Alumni Fee (Colleges)		1	100	100
	19	Re-Registration Fees		0	400	0
	20	Challan Late Fee (RR)		1	0	0
		Grand Total (Du	e Date : 04-	-10-2024)		2560*

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

S. No.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
1	2024010012765	DIVYA CHOUDHARY	F	AJAY KUMAR CHOUDHARY	2060062	Punjab School Education Board	0

1 of 1

9/16/2024, 3:11



Scanned with OKEN Scanner

PDF SIGNER DEMO VERSION



Guru Nanak Dev University, Amritsar REGISTRATION FORM



Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Bachelor of Business Administration, Semester-I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 16/09/2024 03:25 PM)

Challan No. : 2060069 Date : 16/09/2024 03:25 PM Valid Upto : 04/10/2024 11:59 PM Total No. of students: 13

C No	Fee Trees	N		
S. No.	Fee Type	No. of students	Amount per Student	Total Amount
1	Registration Fee	13	400	5200
2	Enrollment Fee	10	300	3000
3	Special Migration Fee	3	350	1050
4	verification Fee	3	1000	3000
5	Eligibility Fee	3	250	750
6	Eligibility Form Fee	3	200	600
7	Re-Cheking Fee	0	300	o
8	Continuation Fee	0	400	0
9	World University Fee	13	50	650
10	Student Holiday Home Fee	13	100	1300
11	Youth Welfare Fee	13	200	2600
12	University Sports & Development Fee	13	1300	16900
13	College Development Fee	13	60	780
14	NSS Fee	13	50	650
15	Verfication Fee (Foreign Students)	0	3500	0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	O
18	Alumni Fee (Colleges)	13	100	1300
19	Re-Registration Fees	0	400	0
20	Challan Late Fee (RR)	13	0	0
	Grand Total (Due	e Date : 04-10-2024)		37780*

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

S. No.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee
1	2024010010371	JASHANPREET SINGH	м	GULJEET SINGH	2060069	Punjab School Education Board	0
	2024010012752	PAHULPREET SINGH	M	BIKRAM JIT SINGH	2060069	Punjab School Education Board	0
3	2024010012768	NAMIT KUMAR	M	DHARMINDER KUMAR	2060069	Punjab School Education Board	0
4	2024010012772	RICHA	F	GAJINDER KUMAR	2060069	Punjab School Education Board	o
5	2024010012775	DOLLY SRIVASTAVA	F	VEER DEV	2060069	Punjab School Education Board	0
e	2024010012776	HITEN SHARMA	M	ASHWANI SHARMA	2060069	Other Boards/Universities	0
7	2024010012780	VIRAIN SHARMA	M	SANJIV KUMAR	2060069	Punjab School Education Board	0
8	2024010059377	RASHI MEHRA	F	MR. SANJEEV MEHRA	2060069	Punjab School Education Board	0
9	2024010059402	TUSHAR ARORA	м	DEEPAK ARORA	2060069	Other Boards/Universities	0
10	2024010059413	PRATHAM	м	ARVIND KUMAR SINGH	2060069	Other Boards/Universities	o
11	2024010059423	AMRIT PAL SINGH	м	SANDEEP SINGH	2060069	Punjab School Education Board	0
12	2024010059437	NEELIMA	F	MATHURA PARSAD	2060069	Punjab School Education Board	0
13	2024010059547	SHIVAM	м	RAVI KUMAR	2060069	Punjab School Education Board	0

https://collegeadmissions.gndu.ac.in/CollArea/ReturnChallan.aspx

O

Scanned with OKEN Scanner

1/1

3000

0

0

0

Guru Nanak Dev University, Amritsar REGISTRATION FORM



RETURN FELCHALLAN

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Bachelor of Business Administration, Semester-I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 16/09/2024 03:43 PM)

	Return Submission F	Result (Printed On: 16/09/2024 03:	43 PM)	
Challar	No.: 2060083 Date: 16/09/2024 03:43 PM	Valid Upto : 04/10/2024 11:59 P	M Total No. of st	udents: 12
S. No	Fee Type	No. of students Am	ount per Student	Total Amount
1	Registration Fee	11	400	4400
2	Enrollment Fee	6	300	1800
3	Special Migration Fee	5	350	1750
4	Verification Fee	5	1000	5000
5	Eligibility Fee	5	250	1250
6	Eligibility Form Fee	5	200	1000
7	Re-Cheking Fee	0	300	0
s	Continuation Fee	1	400	400
9	World University Fee	12	50	600
10	Student Holiday Home Fee	12	100	1200
11	Youth Welfare Fee	12	200	2400
12	University Sports & Development Fee	12	1300	15600
13	College Development Fee	12	60	720
14	NSS Fee	12	50	600
15	Verfication Fee (Foreign Students)	0	3500	0

	Grand	Total (Due Date : 04-10-2024)		37920*
20	Challan Late Fee (RR)	12	0	0
19	Re-Registration Fees	0	400	0
18	Alumni Fee (Colleges)	12	100	1200

0

0

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

Eligibility Fee (Foreign Students)

15

17

Late Fee

S. No.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late Fee	
1	2018010004892	SHIVANSH	м	PANKAJ SHARMA	2060083	(A1) Already Regd. with GNDU and Promoted/Failed/CA in same Degree	0	
2	2024010006584	SHARANJEET	F	NIRMAL SINGH	2060083	Punjab School Education Board	U	
3	2024010006629	SHUBHPREET	F	SATNAM	2060083	Punjab School Education Board	0 -	BAI
4	2024010016995	SHRUTI	F	MOHAN LAL	2060083	Punjab School Education Board	0	
5	2024010059449	DIVYAANSH PURI	м	PANKAJ PURI	2060083	Other Boards/Universities	0	
6	2024010059480	RIDHAM SINGH	M	HDNIE TILDAL	2060083	Punjab School Education Board	0	
7	2024010059510	GOVIND BHATIA	м	VINOD BHATIA	2060083	Other Boards/Universities	0	
8	2024010059521	SUJAL SHARMA	м	ROHIT KUMAR	2060083	Other Boards/Universities	0	
9	2024010059530	TAJESHWAR	м	NIRMAL SINGH	2060083	Punjab School Education Board	0	

https://collegeadmissions.gndu.ac.in/CollArea/ReturnChallan.aspx



Scanned with OKEN Scanner

L

		/							
	1	/							
	6120	024, 15:44					Punjab College Admission		
1	10	2024010059535	ADITIYA	м	DEEPAK KUMAR	2060083	Other Boards/Universities	0	
1	11	2024010059539	PRANAV VERMA	м	PARDEEP	2060083	Other Boards/Universities	0	
	12	2024010059544	AMANDEEP	м	JATINDER SINGH	2060083	Punjab School Education Board	0	

.







Guru Nanak Dev University, Amritsar REGISTRATION FORM

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Bachelor of Business Administration, Semester-I

Challan Payment/Verification must be done on or before valid date of challan

REFERENTED A TALENA

Return Submission Result (Printed On: 16/09/2024 03:46 PM)

Challan No. : 2060084 Date : 16/09/2024 03:46 PM Valid Upto : 04/10/2024 11:59 PM Total No. of students: 3

Challan	No.: 2060084 Date: 16/09/2024 03.401 m	No. of students	Amount per Student	Total Amount
S. No.	Fee Type		400	800
1	Registration Fee	2	300	600
2	Enrollment Fee	2	350	0
3	Special Migration Fee	0	1000	0
4	Verification Fee	0		0
5	Eligibility Fee	0	250	0
6	Eligibility Form Fee	0	200	300
7	Re-Cheking Fee	1	390	
8	Continuation Fee	0	400	0
9	World University Fee	3	50	150
	Student Holiday Home Fee	3	100	300
10	Youth Welfare Fee	3	200	600
11	University Sports & Development Fee	3	1300	3900
12		3	60	180
13	College Development Fee	3	50	150
14	NSS Fee	0	3500	0
15	Verfication Fee (Foreign Students)	0	3000	0
16	Eligibility Fee (Foreign Students)		0	3000
17	Late Fee	0		300
18	Alumni Fee (Colleges)	3	100	0
19	Re-Registration Fees	0	400	
20	Challan Late Fee (RR)	3	0	0
	Grand Total (Due D	ate : 04-10-2024)		10280*

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

S. No	Student ID	Name	Gender	Father Name	Challan No	Candidate Type	Fee
1	2023010159148	HIMANSHU TIWARI	м	JAI PARKASH TIWARI	2060084	(B1) Already Regd. with GNDU and Admitted to new Degree	1000
2	2024010081803	MANPREET	F	KARAJ SINGH	2060084	Punjab School Education Board	1000
3	2024010081816	YUVRAJ SINGH	м	KULWINDER SINGH	2060084	Punjab School Education Board	1000

https://collegeadmissions.gndu.ac.in/CollArea/ReturnChallan.aspx



Scanned with OKEN Scanner

1/



Guru Nanak Dev University, Amritsar **REGISTRATION FORM**

RETURN FEE CHALLAN

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: Bachelor of Business Administration, Semester-I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 25/09/2024 12:18 PM)

	Return Submission Re	esult (Printed On: 25/09/2024	Tatal No. of stu	dents: 1
	Discourse and an and and and and and and and and	a4140/0004 111	59 PM Totarito. et ete	Total Amount
Challan		No. of students	Amount per Student	400
S. No.	Fee Type	1	400	0
1	Registration Fee	0	300	350
2	Enrollment Fee	1	350	1000
3	Special Migration Fee	1	1000	
4	Verification Fee	1	250	250
5	Eligibility Fee	1	200	200
6	Eligibility Form Fee	0	300	0
7	Re-Cheking Fee	0	400	0
8	Continuation Fee	1	50	50
9	World University Fee		100	100
10	Student Holiday Home Fee	1	200	200
11	Youth Welfare Fee	1	1300	1300
12	University Sports & Development Fee	1	60	60
13	College Development Fee	1	50	50
14	NSS Fee	1	3500	0
	Verfication Fee (Foreign Students)	0	3000	0
15	Eligibility Fee (Foreign Students)	0		16000
16	Late Fee	0	0	100
17	Alumni Fee (Colleges)	1	100	0
18		0	400	
19	Re-Registration Fees	1	0	0
20	Challan Late Fee (RR) Grand Total (Due D	ate : 01-10-2024)		20060*

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

8 PM

			a . I	Father Name	Challan No.	Candidate Type	Late Fee
S. No.	Student ID 2024010017357	Name BALRAJ SINGH	Gender	Fauler Manie		Other Boards/Universities	16000
			м	SARABJEET SINGH			

-- in/CallAraa/DalurnChallan aspx



Lata Eas

Scanned with OKEN Scanner

1/1

Guru Nanak Dev University, Amritsar **REGISTRATION FORM**

Name of the College: HINDU COLLEGE, AMRITSAR (Regular) Class: B.Com., Semester-I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 16/09/2024 03:53 PM)

Challen No. : 2057435 Date : 09/09/2024 11:09 AM Valid Upto : 04/10/2024 11:59 PM Total No. of students: 2

	Fee Type	No. of students	Ampunt per Studient	Total Amount
5 No			400	400
1	Registration Fee		300	300
2	Enrollment Fee		350	0
3	Special Migration Fee		*151010	0
4	Verification Fee		2/348 2018 4018 538	600 0 0 0
5	Eligibility Fee			
6	Eligibility Form Fee	*		
1	Re-Checking Fas			
0	Continuation Fee			
9	World University Fee	1		
10	Student Holiday Home Fee	5	11818	200
11	Youth Welfare Fee	*	Districe	#1213
	University Sports & Development Fee		41 SAME	2800
12			RIN RIN ETTERIN	120 100 0
13	College Development Fee	,		
14	NSS Fee			
15	Vertication Fee (Foreign Bitodenite)		LONGINE .	
16	Eligibility Fee (Foreign Stadents)			
17	Late Fee			a
10	Alumni Fee (Colleges)		11,002	20/9
19	Re-Registration fees		ACT O	
20	Challan Late Fee (RR)			0
1.00	Grand Total (Due Date	- 04-10-2024		4820*

* - If any discrepancy occurs for selected category or lives calculation, University is fully authorized to collect it from the college

Return submitted for following candidates



https://intologenatimesions.gntu.ac.m/ColiArea/ReturnChailan.aspa



Scanned with OKEN Scanner

81 .